EIZATQIrIKEZ EEETAZEIZ B’ AYKEIOY
ATTAIKH FAQzzA

Circle the letter of the correct answer among the four choices given.
There is only one correct answer.

PART I - GRAMMAR

1. What were you thinking when you borrowed the car without telling me?
You me first!

A. should ask C. would have asked

B. could ask D. should have asked

2. You got me a gift for my nameday a month ago; you__~ me
another gift for my birthday today , but I must say your new gift is beautiful!
A. mustn't get C. needn’t have got

B. needn’t get D. mustn’t have got

3. I bumped my car on a wall as I was backing into a parking space,
but, luckily, it appears !

A. not to have been damaged C. to damage

B. to have been damaged D. not to have been damaging
4. If you like the book, I as a gift for you.
A. will have it wrapped C. would have it wrapped

B. will be wrapped D. should have it wrapped




5. Nothing much has been happening .

A. yet C. by now

B. so far D. already
6. By the time the students their test, the break over.
A. had finished ... had been C. finished ... would be

B. had finished ... was D. finished ... had been

7. As a university student abroad, I never

lessons beginning on the

dot, so I always late to class.

A. wusedto ... was C. gotused to ... had been
B. used to ... had been D. gotused to ... was
8. Difficult as it seem, it is not impossible.

A. may C. will

B. should D. could

9. Hardly I finished my sentence, the earthquake hit!
A. was ... when C. had ... when

B. had ... than D. did ... than




10. A: I'm calling it a day!

B:
A. Neither am I! C. So, I am!
B. SoamlI! D. NoramI!
11. angry were my parents they gave me the silent treatment
for two whole days!
A. Such ... that C. So .. than
B. Such .. when D. So ... that
12. The coach suggested a good break before the next tournament.
A. Samantha take C. Samantha would take
B. Samantha takes D. Samantha will need
13. The young man was accused neglecting his two-year-old daughter,
but he denied anything wrong.
A. about ... doing C. for ... having done
B. of ... having done D. by ... doing
14. Tom acts he the boss in the company! He’s just a clerk.
A. asif..is C. like ... has been
B. like ... had been D. asif.. were




15. My mum wishes I fencing; she’s always worried I will get injured.

A. will quit C. would quit
B. might quit D. shall quit
16. If it for the general strike two weeks ago, we be in

Yerevan today!

A. hadn’t been ... would

C. won’t be ... could

B. weren’t ... would have been

wouldn’t be ... could have
been

17. Do you get on with

lives next doors? I can never remember

his name!
A. who C. whom
B. whomever D. which

18. I mustn’t forget

the bill tomorrow! Or else they’ll cut the power.

A. to pay C. to have paid
B. paying D. having paid
19. Young children resent like babies.

A. having treated

C. to be treated

B. to treat

D. being treated




20. The defendant the judge, but the jury still robbery.

pleaded ... convicted him
with

begged of ... convicted him
of

begged ... was convicted
with

pleaded with ... convicted
him of

PART II - VOCABULARY

21. After ten years of traveling all over the world, Tom has

a wiser person.

knowledge and experience and that makes him

A. released C. related

B. gained D. selected

22. This old warehouse has been into an apartment
with all the modern amenities.

A. assembled C. assigned

B. covered D. converted

23. Driving under the influence of alcohol is strictly

A. excluded

C.

prohibited

B. included

D.

permitted




24. In case of an emergency, such as a fire, the Captain is the last

one to the ship.
A. board C. jump
B. abandon D. adopt

25. In the age of robots, there are not many job

for unskilled workers.

A. vacancies

C. occupations

B. relations

D. abilities

26. Spending time exercising outdoors is

to our health.

A. tolerant

C. attached

B. artificial

D. beneficial

27. The increasing crime rate is a problem that is difficult to

A. deal

C. tackle

B. dispose

D. figure

28. London is an enormous metropolitan city with culturally

population.

A. indifferent

C. diverse

B. selective

D. various




29. We must replace fossil fuels with sources of
energy.
A. credible C. attainable

B. environment

D. sustainable

30. The elderly can benefit from
walking.

exercise like

A. immense

C. moderate

B. logical D. intense
31. The of birds during the winter months ensures their
survival.

A. immigration

C. migration

B. emigration

D. vibration

32. Many children in India suffer from vitamin

often leads to diseases.

which

A. deficiency

C. efficiency

B. nutrients

D. proficiency

33. People don't always

change because they are

afraid of it.

A. enrich

C. embrace

B. enhance

D. engage




34. The meat was in the freezer so it must be before it
is cooked.

A. chilled C. melted

B. cooled D. thawed

35. Today a large humber of teenagers are sleep as

they spend time on their electronic devices after midnight.

A. dependent

C.

intended

B. devastated

D.

deprived

36. In order to have a
available for all.

economy, jobs must be

A. thriving

C.

declining

B. managed

D.

redused

37. Nobody truly knows why this band split up. However, there is a

lot of media

A. execution C. speculation

B. transmission D. application
38. We can electricity using solar power.
A. innovate C. capture

B. generate D. insert




39. It is unfair that some people are faced with because
of the color of their skin, and don’t have equal opportunities in life.

A. disposal C. discrimination
B. differentiation D. separation
40. Elizabeth is an animal rights and actively

participates in events to raise people’s awareness about how to
protect animals.

A. support C. advocate

B. commander D. movement

PART III - WRITING

Artificial Intelligence has recently made headlines thanks to the book of
ChatGPT. The Al-powered chatbot has both impressed and shocked with its
ability to answer questions, write essays, and even argue legal cases. In what
ways can artificial intelligence be beneficial to humans?

Write a well-structured article, between 180-200 words, for the school
magazine on the above topic. State your opinion and support it adequately by
presenting at least two examples. Your article should have a title.



MAOHMATIKA

EIZAFQriKEY EZEETAZEIZ B’ AYKEIOY 2023

Ogpa 1°

Na xapaktnploete TI¢ akOAouBeg mpotaoelc pe (2) av elval owoteg N pe (A) av eival AavBoouéveg:

a.

B.

Av a <0, tote Vel ot |—a| =—a.

H eflowon x' =a, pe a>0 koL Vv Aptio GUCLKO, EXEL OKPLPWCE Kia AUon TV X =Ya.
To Tpwvupo ax’> +Bx+y, HE a, B, Y paypatikoUs aptduolc kat a >0, eivat mdvta
BeTikd O0Tav n dlakpivouoa A lval PIKpOTEPN ATIO TO UNSEV.

H oxéon |a]+|B|>0 ox0eL yio 0MOLABAMOTE TR TWV TPOYUATIKDV aptBUGV o Kat B.

H ypadikn mapdotacn tng cuvaptnong f(x) =ox+PB TéUveLTov afova X' 0To onuelo

(2

b3

b3 A

b3 A

b3 A

b3 A
Movadeg: 25



Ogpa 2°

, . —3x—-7
Aivetain ouvdptnon f(x)= =X
JA-3-x
o. Na Bpeite o nedio oplopoL tng ouvaptnong f. Movadeg: 7
B. Na Bpeite, av untapyouy, ta onueia TOURC TG ypadIkng mapdotacng Tng f e Toug afoveg X'x KaL y'y.

Movadeg: 8

x> +3x—14
Y- Avn ocuvdaptnon g, Ue g(x):ﬁ , va Bpelte TIC TLHEG TOU X WOoTe N ypadlkh MopAcTocn tng
—13—x

ouvaptnong g va Pploketal mavw amno tn ypadlkn mopdotacn tng cuvaptnong f. Movaédeg: 10



Ogpa 3°

Eotw o, B paypaTikot aptBuoi yia Toug onoioug toxvet: |a+B| <|a—p] .

Oswpole, eniong, Tnv eflowon 2x* —4x+ap=0.

o. Na anodeiete 6Tl af<0. Movadeg: 6
B. No amodeifete 0TL n e€lowon €xel PLleEC MPAYUATIKEG KoL AVIOEG. Movadeg: 7
y. Av x, kai x, givat ot pileg tng e§iowong, va altloAoyroete ylati eivat ETepOoNUEG Kat, av X, <0<x,

va anoSeifete Ot |x,|>|x,|. Movébeg: 12



Ogpa 4°

Aivetat opBoywvio tpiywvo ABT (A =90"), n ywvio AFB=30" kat
n dlapecog AM tou Tplywvou. Ao thv Kopudr I Tou Tplywvou
dépoupe otnv mheupa Al kaBeto tunipa N'E wote TE=2AB. AvZ
TO Héoo Tou BE, va amnobeifete:

o. To tpiywvo AMB gival LoomAgupo. Movabdeg: 8
B. To tetpdmieupo ABZM eival poppog. Movadeg: 8
y. To tplywvo 'BZ eival opBoywvlio. Movadeg: 9
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Pierce OEMATA EIZXATQI'TIKQN EEETAXEQN 2023

MAG®HMA: NEA EAAHNIKA
TAZEH: B AYKEIOY

MEPOX I. EPOQTHXEIY ITOAAAIIAHY EIITAOT'HE

Hopakxalovue, KOKADGTE TH HOVAOIKY 6WOTI amavTyol 6TIS epwThoels 1-10.

1) Aev d€yopan PE KOVEVOY TPOTO VO LLOL PEPEGTE TPOCPANTIKA!

a. TPOTOGT TOL ONAMVEL EIPOVEIQ,

B. TPOTOGT TOL ONAMVEL Do UOGLO

Y. TPOTOGT TOL ONAMVEL AYOVAKTNON
d. TPOTOGT TOL ONAMVEL AUPIGPTTNON

2) Bpeite 10 yAmwooiko Adbog:
Q. O méryog éMmoe and t (Eot.
B. Oa pémetl o1 pabntég va avtihapBdvoviot amd ta Adbrn Toug.
Y. ITpoTiud T0 KOKKIVO Yp®dUO. atd OAa TO GAAQL.
0. To (o e€etdotnke amd OAEC TIC TAELPEC.

3) Evo eiye Mokdda, Exove kpHo: TL SNA®VEL 1] LITOYpapcUEVN AEEN;

o. YPOVO
B. avtifeon
Y. otio,
d. poimdheon
4) XpealOHooTe ot .ouvnennnnn... TPOTOOT YLl PO .eeeenenee. Adon.

a. e0YPNOTN — AELTOVPYIKT
B. Bliooun — vAomomoiun
Y. vAomomoiun — Pociun
) Aertovpykn — ebypno

SeAiba 1 amo 8



5) To mpoPANUaA OTO ............... TOMEG ADGELS.

o

B.
Y.
3.

amodEYETA
TOPAOEYETAL
EMOEYETAL
VTOOEYETON

6) e mola omd TIC TAPOUKAT® PPACELS VILAPYEL TOMTIKN AEITOVPYiO, THG YADOOOGS;

a.

B.
Y-
3.

O Odvocéag éuotale ayploc OTms £va TEWVACUEVO AOVTAPL.
O eEMNVIKOC TOMTIGUOG EYEL LeYAAN aia.

Y10 Bopeta chvopa TG Ydpog vanpEay NGO,

Koaveig dgv ToAL0VGE VA TOV GUVOYOVIGTEL.

7) Avtog o «Opiapfocy pag kootioe akpia! (Tt SNA®VOLV Ta EICAYOYIKA;)

o. HETAPOPA
B. epoveio
Y. opoioyia
d. vy AOYo
8) Mia dvvotn ............ TOV OVELOL TOPECVPE KOPEKAES Kol TPOTECLOL.
a. pomn
p.  pum
Y. TPOTY)
0. PN
9) Aev giyo xopioo GAAN Adon mopd HOVO VO VIOYMPNO®: TL ONAMVEL 1
VIOYPOUUICUEV AEEN;
a. otio
B. GUUTEPOUGLLOL
Y. oKOTO
d. avtifeon
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10) Zog divovton pepovopéveg mpotdoeis. No tic BdAete 6T 6®GTH GEPd, MOTE
va oynuotiCovv pio Kavovikn Topaypopo:

A. Tho mopdoetypa, kaveig dev Bo paber moté mdécol axpiac dvOpmmot
daPacay po cuYKeEKPIEVN €10nomn o€ pia pnuepida 1 TOGOoL TNV €ldav 6° Eva,
TNAEOTTIKO KOVAAL.

B. Ewomotdg 010popd t0ov JS1001KTOOL 0amd To TOPOdOCloKd uéoa,
EVIUEPMONG €lvOL OTL TEYVIKA UTOPOVUE VO UETPNGOLUE TNV OVAYVOGILOTNTO
CUYKEKPLEVOV EONCEMV.

I'. Zmv évtonn dnuocloypaeio avtd ivor adHvaTov.

A. T'vopilovpe axkpipmdg OGO amd TOVG EMMOKENTEG OGS EWONGEOYPOUPIKTG
16TOGEMONG ETAEYOLV VO SPAGOVY Lo GUYKEKPIUEVT EIOMOT).

E. Zt0 dwdiktvo, opmg, OAa avtd ivon pHeTpr|ou.

XT. MdMotoa, av pio €idnon v emAEEOVY TOALES YIAAOES KOVAYVDGTESH
EVOD KATO10, GAAT LEPIKES OEKAOES, UTOPOVLLE VO GUUTEPAVOLUE OTL 1) TPMTN EYEL
acvYKpitwg peyorvtepn Popdtnta amd tn devTEP.

H cwot) oepad givat:

o. A-B-T-E-A-XT
B E-T-A-B-A-2T
Y B-T-A-E-A-2T
) A-B-E-A-T'-XT

Mépog I: povaoeg 30
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MEPOX II. KEIMENO KAI EPOQTHYEIX

Kabe mpoi mov @tdve oyoleio, avtikpilow v 10 oknvi: ovo pobnTé,
TPOPOVMOG PIAOL, TOV Y10 KATOL0V AOYO £pYOVTOL TOAD TPV TOVS GAAOLS, KdBovTal
o€ £vo amd TO TOYKAKLO TNG OWANG, 0 évag OimAa oTov GAAO0 OAAG KaBEvag
amOALTO ATOPPOPNUEVOC G6TO Kvntd Tov — o€ Té€tolo Pabud, mov dev
aviaAldocovy KovBévia! Aev avtihapPdvovrot kov ot TepvAm amd dimAa Tovg,
Bélovtag va BAAm Tic ovES e To OAPepd avtd Béaua. ..

AvEAoYEC OKNVEG UTOpEl KATO10G VOl AVTIKPIGEL GE OAEC TIG KOUPETEPLEG TNG YDPOGS.
[Mapéeg vémv 1 ko peyaAvtepov 6to 1010 Tpoméll, Kabévog pe to Kivntd Tov.
Axopo kot 0tav Phovy, givat yio va, oyoMdoouvv 6ca fAEnovy 6Tig 000veS TOLG.
Agg Kol 0 TPAYUOTIKOS KOGUOC VTAPYEL Yo VO oYOoAALEL TOV €lKoViKO! Xtal
eoTiatopia, tic Kvprokés kot apyiec, to 0€apa eivon akoduo mo amokapolOTKo:
Y100 VoL £XOVV TNV NoLYI0 TOLG O1 YOVEIC, TadLA TPOGYOAIKNG KOl GYOAKNG NAKIG
KdBovtor 6to Tpaméll kabéva umpootd otn Okn tov 006VN...

Eivar amictevto aAAd v emoyn ¢ emkowvmviag ot avlpomol EExacav va
piovyv, va. cvlntovv, va kavovv dwdioyo. Eivon dwopkmdg pe pia cvokeum
EMKOWVOVING GTO XEPL OALGL ExacaV TNV IKOVOTNTO VO AAANAOETIOPOVY UE TPOTO
OVLGLOOTIKO. ZOVUE OTNV EMOYN TNG OKUTACYETNG PAvOploc Kot TG amdAVLTNG
CLOTNG TOVTOYPOVA: PAVOPI UINMVOUUATOV Kol ovouoltov AéEewv, clonn o€ 0,1l
aQOPE TNV A0V Kol OVGTIOGTIKY) ETOLPT).

Edwcd n vedtepn yevid, Ommg TV avatpEPOLLLE, KIVOLVEDEL Vo UV LaBeL TOTE T1
onuaiver tapéa. No unv pdbet va cuvomdpyet, vo mabialeton pe Tig kovpEvtec, va
doPmVEl, vo avTaAALCCEL ATOWELS KO ETLYEPTLOTA, OKOLO KO VO OLYATTE 1) Vo
epoteveTatl. O avOpwmog and 1 evomn tov Ppicketol oe avalntnon Tov AALOV,
vt dev B€NeL va etvar povog tov, 0ev 10 avtéyetl. QotdG0, At 1 avalTnoT ToV
dAlov dev etvar dvvatov va yivetor péoa amd pio 006vn. [pénel vo copPaivet
otV aAndwn Con, otov Tpaypatikd KOGHO, Yiati povo tote £xet alio. Xmpig tov
dAlo, yopic 016Aoyo pali tov, n Lon dev mpoywpd. Ovte 0 dvBpwmog.

O Xoxpdtng pog didaée mpmtog TV a&lo TNG SAEKTIKNG, ovalnTOvVToS TNV
ainfela péca amd Tov amAd 01dA0Yo e Tovg LodnTéES Tov. Agv vITApPYEL apEBoAia
OTL TPETEL VAL TOV AVOKAADWOLLE EAVEL, V1o VAL UNV YAGOVLE TNV YUY LOGC.
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Epotosic ne Bdon to KEipnevo

Hapakaiovue, KOKADGTE TH HOVAIIKY 6OGTH AmavTion 6TIiS epatiaels 1-10.

1) Topewva e To Keipevo, 1 poavio pe ta Kvntd yopoktnpilet:

a. TOLG VEOUG

B. TOVG HEYOADTEPOVS

Y. VEOLG KOl LEYOADTEPOVG
d. T0, TOLOL

2) Zoupmva UE To Keipevo, o avlpmmoc:
a. avalnTd Tovg dAAOLG
B. ToviKoBaALETOL LOVOC
Y. BéAel v novyia tov
d. TPOTILA VO LEVEL LOVOG

3) Zouemva e TO KEIEVO, 1 YNOLOKT] TEYVOLOYi £XEL EXNPEACEL:
a. TNV AVOTPOPT] TOV TULOIDV
B. TIC vOpOTIVEC GYECELG
Y. NV IKvOTNTO TOV 0vOpOTWV Y10 010 0Y0
0. OAOL TOL TOPOTTAV®

4) ZOpeova [e To KEIUEVO, 1| GYE0T TPAYLOTIKOD Kol EIKOVIKOD KOGHOV Eivat:

Q. aVOTTOPKTN

B. 0 TPMTOC £MNPEGLEL TOV 0£DTEPO
Y. 0 0eVTEPOG EMNPedLEL TOV TPMOTO
0. adVVOTY

5) ...kabévog amolvta amoppoPnuEVOS 0TO KIVITO TOV — 0€ TETO10 Labud, Tov dev
ovtorLdooovy kovfévia!: TL NADOVEL TO BoUACTIKO;

a. gpwveia

B Bovpoacud

Y. evhovolacpd
) OTTOYOT TELGN

SeAiba 5 amo 8



6) 2ta eonotopia, tic Kvpiokés kor opyieg, to Oéauo eivar okxopa o
OTOKOPIIWTIKD. TOW., OmO TS TAPUKAT® AEEelg eivoar cvvodvoun pe v

VTOYPOUUIGUEVN;
a. Aomnpo
B. OTOYONTELTIKO
Y. evBappuvTiKOe
d. onoOLGTIKO

7) H ppdon «n kdAaon eivar ot GAro» tov ['dAlov prhocdeov Jean-Paul Sartre:

Q. Tap1dlel 6TO TVEDA TOV KEWUEVOL

B. dev oyetileton kabolov pe 1o Keipevo

Y. dtoyevdeTal apov dev Taptdlel 6To TVEDUA TOV KEILEVOL
d. 16y voVY OAO TO TOPATAV®

8) Ooa. avapépovtal oTig dV0 TPMTEG TAPAYPAPOVS TOV KEUEVOD:
o. AELITOVPYOVV MG APOPUNON
B. AELITOVPYOVV MG TOPAOETYLOTA,
Y. deiyvouv pia TpayuaTiKoOTTO
d. 1oyvovVY GAN TO TOPATAV®

9) Aeg ka1 0 TPOYUATIKOS KOOUOS DIGPYEL Y10, VO GYOAMALEL TOV EIKOVIKO!. ot
@PAcT QLT LTAPYEL:

a. HETAPOPA

B. TOPOLOimo
Y. GYNLLO. (106 TO
0. KuproAe&ia,

10) Zovue otnv emoyn TS OKOTACYETNS QAVOPIOS KOI THSG OTOAVTHS OLOTHS
TODTOYPOVA: |IE TN PPAGCT OVTY] O GLUYYPAPENS YPNCLLOTOLEL:

a. avoloyia

B. avtifeon

Y. oMU KOKAOL

d. GUUTEPAGLLOL

Mépoc I1: povaoeg 30
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MEPOX III. ITAPAT'QI'H AOI'OY

Oa Bérate mEPIGGOTEPO SAAOYO GTNV OIKOYEVELD KOl GTO GYOAELO Kol Y10 TO10VG
Aoyovg; (150-200 AéEeic)

(av 0 xdpog dev emapKel, UTOPEITE VO, GLVEYIGETE GTO oM HEPOG TNG GEAOOC)
Mépoc I11: povaoeg 40
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